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Yr 1, 15.06.20 Answers 

 

 
How many birds are there altogether? 
There are __10___ birds in each tree. 
There are ___3__ trees. 
There are __30___ birds altogether. 
 

 
 
There are __10___ flowers in each bunch. 
There are __5___ bunches. 
There are __50__ flowers altogether. 
 
Yes we can use a number track to count in 10’s 
We say the same numbers whether we count with beads or on a number track. 
 
Reasoning and problem solving 

 



SPaG 

 
Spellings 

Can you now spell all of those words? 

 

Foundation Subject –Science 
No answers needed for today. 
Did you manage to do your research? 
  
 
 
 
 


